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9RFDWLRQDO�HGXFDWLRQ�LQ�,QGRQHVLD�LV�EHLQJ�GHYHORSHG�DW�WKLV�WLPH�LV�FHUWDLQO\�
FDXVH�FRPSHWLWLRQ�EHWZHHQ�SRO\WHFKQLFV��,Q�WKLV�FDVH�$70,�&LNDUDQJ�EHFDPH�RQH�RI�
WKH�RUJDQL]HUV�RI�YRFDWLRQDO�HGXFDWLRQ�RI�WKH�IDLWKIXO�DQG�FRQVLVWHQW��7KHUHIRUH��RSWLRQV�
'LIIHUHQWLDWLRQ�EHFRPHV�YHU\�LPSRUWDQW�LI�$70,�ZDQW�WR�HPEUDFH�YRFDWLRQDO�HGXFDWLRQ�
PDUNHW��7KHLU�VWUDWHJLF�SULRULWLHV�KDYH�EHHQ�VHW�RXW�LQ�WKH�$70,�&LNDUDQJ�6WUDWHJLF�3ODQ�
��������ZLOO�EH�PRUH�SHUIHFW�ZKHQ�WUHDWHG�ZLWK�WKH�$+3�SURFHVV�LV�

7KHLU�GHFRPSRVLWLRQ�SUREOHPV�WKDW�DUH�VHHQ�KHOLFRSWHU�YLHZ�E\�WDNLQJ�SDWWHUQV�
RI�GLIIHUHQWLDWLRQ�.RWOHU��DQG�LGHQWLI\�VWDNHKROGHUV
�H[SHFWDWLRQV��WKURXJK�$+3�ZLOO�ILQG�
RSWLRQV�DOWHUQDWLYH�VWUDWHJLHV�� WKH�VSHFLILF�FULWHULD�DQG�PHDVXUDEOH��6R� WKDW�ZLOO�KHOS�
GHFLVLRQ�PDNHUV� LQ� &LNDUDQJ� $70,� WR� GLVFHUPHQW� WR� VHW� VHOHFWLRQ� VWUDWHJ\�� 7KH�
VWUDWHJ\� RI� UDQGRP� VHOHFWLRQ� ZKLFK� ZDV� RULJLQDOO\� FRPSRVHG� LQ� $70,� &LNDUDQJ�
6WUDWHJLF�3ODQ����������WKURXJK�WKLV�SURFHVV�JHQHUDWHG�$+3�&ULWHULD�+LHUDUFK\�$70,�
DV�&RPSHWHQFH�&HQWHU���������$70,�DV�0HFKDWURQLFV�&HQWHU��������DQG�WKH�$70,�DV�
3RO\WHFKQLF�(4)����������E\�RUGHU�RI�SULRULW\�$OWHUQDWLYH�'LIIHUHQWLDWLRQ��3%(7����������
75$,1,1*� ��������� /,1.� 	� 0$7&+� ��������� 5� 	� '� ��������� DQG� &$19$66,1*�
���������3ULRULWLHV�LQ�WKH�6WUDWHJLF�3ODQ�FDQ�EH�PDSSHG�EDFN�LQWR�D�KLHUDUFKLFDO�V\VWHP�
WKDW� IDFLOLWDWHV� WKH� GHFLVLRQ�PDNHU� $70,� &LNDUDQJ� WDNH� DFWLRQ� RU� FKRLFH� RI�
GLIIHUHQWLDWLRQ�VWUDWHJ\�

.H\ZRUGV��$+3�0HWKRGH��'LIHUHQWLDWLRQ��'LVFHUPHQW��9RFDWLRQDO�(GXFDWLRQ�
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3HQGLGLNDQ�YRNDVL�GL�,QGRQHVLD�\DQJ�VHGDQJ�EHUNHPEDQJ�VDDW�LQL�VXGDK�SDVWL�
PHQLPEXONDQ�SHUVDLQJDQ�DQWDU�SROLWHNQLN��'DODP�KDO�LQL�$70,�&LNDUDQJ�PHQMDGL�VDODK�
VDWX� SHQ\HOHQJJDUD� SHQGLGLNDQ� YRNDVL� \DQJ� VHWLD� GDQ� NRQVLVWHQ��2OHK� NDUHQD� LWX��
3LOLKDQ�'LIHUHQVLDVL�PHQMDGL� VDQJDW� SHQWLQJ� ELOD� LQJLQ�PHUDQJNXO� SDVDU� SHQGLGLNDQ�
YRNDVL��$GDQ\D�SULRULWDV�VWUDWHJL�\DQJ�WHODK�WHUWXDQJ�GDODP�5HQVWUD�$70,�&LNDUDQJ�
��������DNDQ�PHQMDGL�OHELK�VHPSXUQD�ELOD�GLRODK�GHQJDQ�PHWRGH�$+3�3URVHV�LQL�

$GDQ\D�GHNRPSRVLVL�PDVDODK�\DQJ�GLSDQGDQJ�VHFDUD�KHOLFRSWHU�YLHZ GHQJDQ�
PHQJDPELO�SROD�SROD�GLIHUHQVLDVL�.RWOHU��GDQ�PHQJHQDOL�KDUDSDQ�VWDNHKROGHU��PHODOXL�
$+3�LQL�DNDQ�GLWHPXNDQ�SLOLKDQ�DOWHUQDWLI�VWUDWHJL��NULWHULD�\DQJ�VSHVLILN�GDQ�WHUXNXU��
6HKLQJJD� DNDQ� PHPEDQWX� SHPHJDQJ� NHSXWXVDQ� $70,� &LNDUDQJ� EHUGLVNUHVL�
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PHQHWDSNDQ�SLOLKDQ�VWUDWHJLQ\D��6WUDWHJL�SLOLKDQ�\DQJ�VHPXOD� WHUVXVXQ�DFDN�GDODP�
5HQVWUD�$70,�&LNDUDQJ����������PHODOXL�$+3�SURVHV� LQL� GLKDVLONDQ�+LUDUNL�.ULWHULD�
$70,�3XVDW�.RPSHWHQVL����������$70,�3XVDW�0HNDWURQLND���������GDQ�$70,�3ROWHN�
(4)� �� �������� GHQJDQ� XUXWDQ� SULRULWDV� $OWHUQDWLI�'LIHUHQVLDVL�� 3%(7� ���������
75$,1,1*����������/,1.�	�0$7&+����������5�	�'����������GDQ�&$19$6,1*����������
3ULRULWDV�SULRULWDV�\DQJ�DGD�GDODP�5HQVWUD�GDSDW�GLSHWDNDQ�NHPEDOL�PHQMDGL�VHEXDK�
VLVWHP� KLUDUNL� \DQJ� PHPXGDKNDQ� SHPEXDW� NHSXWXVDQ� $70,� &LNDUDQJ� PHQJDPELO�
WLQGDNDQ�DWDX�SLOLKDQ�VWUDWHJL�GLIHUHQVLDVL�

.DWD�NXQFL��GLIHUHQVLDVL��GLVNUHVL��PHWRGH�$+3��SHQGLGLNDQ�YRNDVL�


